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w1520l 2L ERVURAAL A 2AL B M HIAlA @) 531 :
(1) =uilord sisud unde [Gigad AALEL 21 d dosts Geule Al Gualal
(2) =diford »isH T 37.5 diviel A5l sidl €1 dl d<] L,
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(3) HALleA 52 udlotn vizd 9 ?
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(D) HeAE HIAMHIA + U8 HoyRl + RaAR s1vALAL WA W
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(2) uH1dell ugdr ugHld Yoyot Geule- ugdr vied,
() UeAEL HIGRUHLA + UeHeL UYL + Ut WA + BRVAR & SIRUIAL YIS W3
(b) Neua HAQRUHIA + Ueda HORL + s WA + AlAd, sl WRia v

(C) NcUat HIGRAHLA + Weddl HoYRl + Wedgl WA + WuR (R 51011 ule w3
(d) Guz-L sl s ww Al

(3) 58 Ut [An 2UMR 3215l YeAUisAHT Guler-l RaR uRlel WAl AUl AUl 203 § ?
(a) AlHid wsdr urald (b) uM1A2ll udz weuld
(c) AotBd udz weuld (d) Gua-il ol

(4) o 3181 T 60,000, l.4l. 24l 25% i Alvvdl viiz2 T 10,000 €A dl
Rer w3 S2dl wil ?
(a) ¥ 5,000 (b) ¥ 15,000
(c) ¥ 25,000 (d) 2unial visuel -lg

(5) oxl wisHels AL Bud T 20 €, Aldd w3 e Bud-u 70% ¢, 54 Rar wil
T 30,000 Gia di uHd2 [61g 324l visHl il ?

(a) 1500 wisHL (b) 5000 isHi
(c) 1050 isHl (d) 2unizl visup g
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(6) Uvt BuALsy-L GuAdA .
(a) O Gewie- el sl s2al
(b) @edH AR sl 52l

(c) st 12 Mal4o{l Al urieall sl
(d) GURAL o1HL HI2

(7) wis 2 U X LY 6L AR} 6lellAdL ieisH sHELS 4 5@ls 214 8 s@lsAl UKL &l B,
oL QML A8, 3600 sellsl 6y Gretod 1A dl,-{lAniHl 56 vuUAL 9.

(a) 4X + 8Y = 3600 (b) 4X + 8Y 2 3600

(c) 4X + 8Y < 3600 (d) el 2isu Al

(8) dAlad U Adoiy 4d €.
(a) $oiell ugdz A (b) AoABid usdz A1E
(c) HlAsiRs usdz 118 (d) GuRA w54 Al

(9) “o¥33] AUHA 6y ” JIT Ul vAIel GEMA
(a) 196041 v (2511l gl (b) 194041 SodsHi yAl.
(c) 195041 auL4AHL UL, (d) 198041 1AM Y.

(10) aalilsd uidz 2ut1Rd 9

(a) Ueiidl YR Uddr UR (b) Usiatedl HAlasifs usdz u
(c) Urradl ot Bud ur (d) zuniel sisun dl
ENGLISH VERSION

Instructions : (1) All questions are compulsory
(2) Right side show numeric is a marks of question.

1. Aksh Ltd. Has a production capacity of 2,40,000 units per year. Normal capacity of
production is Estimated 80% for the year 2017-2018.
Information related to cost is as follows :
Direct Materials at X 7 per unit.
Direct Wages at ¥ 5 per unit.
Factory variable cost at ¥ 3 per unit.
Factory fixed overhead cost ¥ 1,92,000.
Sales and Administration overhead cost :
Variable cost at ¥ 2 per unit.
Fixed overheads ¥ 48,000.
The management information for the year 2017-2018 is as under :
Units production 2,00,000 units.
Sales ¥ 25 per unit, 1,60,000 units.
Opening stock of finished goods 20,000 units
The cost Analyst has shown that the actual variable factory overheads were spent
T 40,000 more. There were no any other variances relating to costs.
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Calculate :
(1) Break Even Point for the year 2017-2018

(2) What increase in price would have been necessary to achieve the budgeted profit.

(3) Prepare income statements showing per unit and total cost under :
(a) Marginal Costing and

(b) Absorption Costing
(4) Explain the difference of profit between both methods.
OR
1. (A) Two companies engaged in production decide to absorb in one unit. Their 7
operations were as under :
Company | Company
ABC XYZ
Use of production capacity (in %) 45 30
Sales ( in lakhs of ¥) 135 75
Variable cost( in lakhs of ¥ ) 99 56.25
Fixed expenses ( in lakhs of ¥ ) 40 25

The proposals of absorption is accepted, and taking into account this fact,
calculate the following :

(1) Sales at Break-Even point and production capacity utilised for the same.
(2) Sales for earning profit ¥ 37.5 lakhs.
(3) Profitability at 80% production capacity.
(B) Assumption and Limitations of Break- Even analysis.
2 (A) Rushi Ltd. Manufacture three products and the post particulars for a year are as follows :

Product
Particulars oR® PR QR
Sales 1,50,000 2,50,000 1,75,000
Materials Cost 75,000 1,00,000 80,000
Labour Cost 20,000 30,000 25,000
Variable Overheads | 10,000 15,000 20,000
Fixed Overheads 20,000 25,000 15,000

The company imports one of the raw materials which is used in manufacture of all products.
The consumption of material is as follows :
‘0’3000 Kgs; ‘P’ 6000 Kgs; ‘Q’ 4000 Kgs.

There is restriction in imports of the material. The management is planning to close down one of
the products and utilize the material for other two products to improve profitability. The Sales
Manager assures that whatever is produced will be sold in the market. Advise the management.

(B) What presumptions are made when there is only one limiting factor ?
OR

2 (A) Kishan Ltd. Manufactures two products P and Q. The contribution margin for Product P is 10
¥ 10 and X 6 for product Q. One unit of P requires 2 hours of Assembly time and one unit
Of Q requires 4 hours. There is a limit of 20,000 hours of Assembly time and 18,000 hours
Of finishing time available. One unit of P requires 2.25 hours of finishing time; Q requires 2
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hours. In addition, both units require a direct material that difficult to obtain. One unit of P
requires 5 Kg. and one unit of Q require 8 Kg. of materials. Company purchases of the

material are limited to 60,000 Kg.

Required to determine the optimal combination of O and P for the firm to

maximise contribution margin by Graphic Methods.

(B) Stat the limitations of linear programming ? 4
3. From the following Particulars, find the most profitable product mix and prepare a statement of 14
profitability of that product mix.
Particulars Product Product Product
Navya Tisha Sweni
Units budgeted to be produced and sold 2,500 4,000 1,500
Selling price per unit <100 %90 %80
Requirement per unit :  Direct materials 5Kg. 3Kg. 4Kg
Direct labour 5 hrs. 4 hrs. 3 hrs,
Variable overheads 12 15 10
Fixed overheads 14 14 314
Cost of Direct materials per kg. T8 38 T8
Direct labour hour rate 4 34 T4
Maximum possible units of sales 3,000 5,000 2,000
The selling commission is 10% on sales.
All the three products are produced from the same direct material using the same type of
machine and labour.
The supply of raw material which is imported is limited to 30,500 kg. for the budget period.
Assume in above situation, if additional 5,000 kgs. of raw material is made available for
production should the company go in for further production, if it will result in additional fixed
overheads of ¥ 8,000 and 30% increase in the rate per hour for labour and variable overheads ?
OR
3. (A) Write short notes (Any two) 10

(1) Opportunity Cost

(2) Relevant Cost

(3) Differential Cost

(B) Write an answer (Any Two)

(1) What is ‘Sunk Cost’?

(2) Whether it is better or buy an asset or to take it on lease ?
(3) What is limiting factor?

4. Answer any two of the following questions :

(1) Stat the obstacles to successful implementation of “ Just in Time” (JIT) approach.
(2) Difference between traditional purchase and JIT purchase.
(3) Write note on Life-cycle .

(4) Write note on Target Costing.

5. Select the correct answer from given alternatives of each question. (Any Seven)

(1) Production variable cost as per variable costing method means
(a) Direct materials + Direct wages + Total factory overheads.
(b) Direct materials + Direct wages + Fixed factory overheads.
(c) Direct materials + Direct wages + Variable factory overheads
(d) None of above
(2) Production cost as per absorption costing method means
(a) Direct materials + Direct wages + Direct expenses + Total actual factory overheads.
(b) Direct materials + Direct wages + Direct expenses + Variable factory overheads.
(c) Direct materials + Direct wages + Direct expenses + Actual fixed factory overheads.
(d) None of above.
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(3) In which method fixed costs of production is considered for valuation of closing stock?
(a) Marginal costing  (b) Absorption costing  (c) Relevant costing  (d) All of these
(4) If, sales is ¥ 60,000, P.V. Ratio is 25% and net loss ¥ 10,000, what would be the fixed costs?
(a) ¥ 5,000 (b) ¥ 15,000 (c) T 25,000 (d) None of these
(5) If, per unit selling price ¥ 20, variable cost is 70% of selling price and total fixed cost is ¥ 30,000,
What would be the break-even point in units?
(a) 1500 units (b) 5000 units (c) 1050 units (d) None of these
(6) Linear programming is useful for-
(a) Determine optimum product mix
(b) Determine minimum cost
(c) Select securities for investment
(d) All of these
(7) For manufacturing products X and Y by a machine, requires 4 hours and 8 hours per unit
respectively. If, there are only 3600 hours available, which of the following is constraint?
(a) 4X+8Y=3600 (b) 4X+8Y > 3600 (c) 4X+8Y < 3600 (d) None of these
(8) Differential cost deals with
(a) Sunk cost (b) Relevant cost  (c) Historical cost (d) None of these
(9) “Just In Time” (JIT) is emerged in

(a) America in the year 1960 (b) England in the year 1940

(c) Japan in the year 1950 (d) India in the year 1980
(10) Target costing is based on :

(a) Actual cost of product (b) Historical cost of product

(c) Market price of product (d) None of these
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